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1. 	 (a) Calculate cnough .derivatives of t lw fUllction f (x) - In (3 ,. + ") t blt I' 	 . - .";) 0 ena e you 
o gul' S t l C general formula for t hc n-th derivative f (n)( •. ) T I 'f , • ,' . • • c: , .(,. len , ven y your 

gness USlllg IIIH t hematlcal llldllCt,ioll. 
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(b) 	The arC'a of " ci rcle incrcases at a ratc of l cm 2 / s. How fast is the radius 

changlllg whcn the circulilfcrcncc is 2cl"lI.. 
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2 . Evaluate e<1ch improper in tegra l or tiholV t hat it diverges. 
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3 . 	Find the \·olume of the solid generated by rotating the region bounded by y = x 2 +1 , 
y = 3 - .7;2 , and x ;:: 0 about 

(a) the x-axis using slicing method 
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(b) the y-axis using cylindrical hell method. 
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4 . Evaluate the given int.egrals 
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